GOVERNMENT OF JAMMU AND KASHMIR

OFFICE OF THE CHIEF CONSERVATOR OF FORESTS, JAMMU

(Forest Complex, Exchange Road, Dogra Hall) Ph. 0191 – 2547748, 2545400 Fax: 2562929, Email:ccfjammu1@gmail.com

Revised Work programme at C Revised Work programme of Compensatory Afforestation w.r.t Forest Clearance for "Construction of road from Devak Bambliya connecting Section S Sub:

Devak Bambliya connecting Sanki-Deoli & hathal-Sarooti".

CF West No: CFW-R/FCA/2015-17 dt 06.10.2022.

Whereas, vide CCF Jammu No: CCFJ/Plg/22-23/43/285-88 dt 12.05.2022, approval / sanction has been d for work programme of Correction of road from accorded for work programme of Compensatory Afforestation w.r.t Forest Clearance for "Construction of road from Devak Bambliva connecting Septimental Parties of the Construction of the C Devak Bambliya connecting Sanki-Deoli & hathal-Sarooti" to the tune of Rs 21,49,311/- to treat an area of 14 hectares; and

Whereas, the DFO Nowshera, vide No: DFO/NSR/1434-35 dt 30.09.2022, has reported that an EDS has been raised by the IRO Jammu dated 30.06.2022 regarding the change in alignment in the forest area and accordingly the DEO Novembers submitted. financial implications of Rs 25,04,144/-, which has been recommended by the CF West Circle vide above quoted reference.

Now, therefore, in view of recommendations of CF West Circle, the revised work proposal for Compensatory Afforestation to be done in lieu of diversion of 6.051 hectares of forest land in Nowshera Forest Division for "Construction of road from Devak Bambliya connecting Sanki-Deoli & halthal-Sarooti" by PWD to the tune of Rs.

25,04,144/-, is hereby approved / sanctioned, as per the detail given below:-

Proposal No	ved / sanctione Area involved for diversion	d, as per the detail giv Location	Area of CA Plan prepared	Canopy Density	Spp. to be planted.
FP/JK/Road/ 152391/2022	6.051 Ha.	Comptt 104/D & 105/D (Thangroit)	12 Ha	<30%	Indigenous species

The approval / sanction is subject to the following conditions: -

- 1) All the terms and conditions as per the provisions of Forest Conservation Act 1980 w.r.t Compensatory Afforestation are complied with.
- 2) That the existing Forest Tariff Rate schedule shall be applicable.

That DFO Nowshera Forest Division shall be the implementing agency for executing the CA Plan.

Dated: 17 .10.2022.

No: CCFJ/Plg/22-23/43/ 2519-29

Copy to: -

Ref:

- 1. Pr. Chief Conservator of Forests (HoFF), J&K, Jammu for favour of information.
- 2. Nodal Officer, FCA, O/o the PCCF J&K for favour of information.
- 3. CF, West Circle, Rajouri.
- DFO Nowshera Forest Division for information and necessary action.

Compensatory Afforestation Scheme

Title of the Project

:- Construction of road from Devak-Bambliya connecting Sanki-Deoli and Hathal-Sarooti

File No.

:- JK-025/2022

Proposal No.

:- FP/JK/Road/152391/2022

Date of Proposal

:- 17-02-2022

Name of the Forest Division

:- Nowshera Forest Division

Forest area to be diverted

:- 6.051 Ha.

Forest area to be planted

:- 12 Ha.

No. of trees/poles/saplings to be felled

No. of plants to be planted in the scheme

:- 254

:- 11375

Existing Vegetation

:- Sissoo, Khair, Jamun, Amla, Kamble,

Kainthi, Safeda, Dherank

Species to be planted

:- Bamboo, Khair, Bahera, Kikkar, Baughinea,

Chir, Rumbal, Phly.

Details of land where C.A. is to be carried out:

Degraded forest land: Yes

Area

: 12 Ha.

Forest Division

: Nowshera Forest Division

District: Rajouri

Range

: Sunderbani

Tehsil

: Sunderbani

Location of C.A. Site (Patch1): Thangroit

(Patch2): Thangroit

Location/Site for Compensatory Afforestation:

	Range	Block	Location	Compartment	Geo Coordinates	Area(Ha.)
Patch 1	Sunderbani	Devak	Thangroit	104/D	N 33°08'22.53"	4
Patch 2	Sunderbani	Devak	Thangroit	105/D	E 74°34'10. 62" N 33°08'10.22"	8
					E 74º34'11. 32"	

Description of C.A. Site:

a. Soil type: Mountainous Soil

b. Topography: Undulating

c. Slope: Medium (10 % to 15 %)

d. In case of degraded forest land-description of forest type and crown density: Sub-tropical Chir pine forest & density is <30%.

Compensatory Afforestation for 12 Ha Degraded Forest in Nowshera Forest Division

S.No	Description				Rate (in Rs.)	Total Amount (in Rs.)
A.	Plantation	Patch I (411a)	Patch 2 (8Ha)	Total		
1	1st Year Cost of Afforestation	1500	5000	6500	29.34	1,90,710
2	2nd year maintenance(BUC)	375	1250	1625	29.34	47,678
3	3 rd year maintenance(BUC)	225	750	975	29.34	28,607
4	4th year maintenance(BUC)	75	250	325	29.34	9536
5	5th year maintenance(BUC)	75	250	325	29.34	9536
6	6th year maintenance(BUC)	75	250	325	29.34	9536
7	7th year maintenance(BUC)	75	250	325	29.34	9536
8	8th year maintenance(BUC)	75	250	325	29.34	9536
9	9th year maintenance(BUC)	75	250	325	29.34	9536
10	10th year maintenance(BUC)	75	250	325	29.34	9536
	Total	2625	8750	11375	29.34	3,33,747
	Nursery Raising			11375	8.03	91,341
	Nursery Maintenance			11375	2.66	30,258
	G.Total					4,55,346

B. Other Afforestation Interventions (as per the requirement of the site condition) Patch Sowing:

Range	Co. No.	Location	Area (Ha.)	Physical	Rate/Unit	Total Amount
				No.		(Rs.)
Sunderbani	104/D	Thangroit	4	600	6.99/patch	4194

C. Fencing: Chain Link Fencing

	Range	Location	Gps	Physical	Rate/Rft	Total amount
			Coordinates	(Rft)		(in Rs.)
Patch 1	Sunderbani	104/D	N 33°08'22.53" E74°34'10. 62"	3000	208.147	6,24,441
Patch 2	Sunderbani	105/D	N33º08'10.22" E74º34'11.32"	4300	219.705	9,44,731
Total						15,69,172

D. Soil & Water Conservation and Protection Measures like Construction of Fire lines & Inspection Path:

(i) Soil & Water Conservation

	Location	Range	Physical	Rate/Unit	Total amount(Rs.)
Patch 1	104/D	Sunderbani	DRSM :20m3	1099/m ³	21,980
			DRSM :30m ³	1099m ³	32,970
Patch 2	105/D	Sunderbani	Pond :01	L.s (as per estimate)	1,25,000
Total					1,79,950

(ii) Inspection Path

	Location	Range	Physical	Rate/unit	Total amount
			(mtrs)		(Rs.)
Inspection	104/D	Sunderbani	L=500m	45221/km	22,611
Path	d		B=1.5m		
	105/D	Sunderbani	L=1000m	45221/Km	45221
			B=1.5m		
Total					67832/-
G.Total		D(i))+D(ii)		2,47,782

Total (A+B+C+D)= 455346+4194+1569172+247782= 22,76,494

E. Supervisory/ Watch & Ward / Overhead/Miscellaneous charges:

@ 10% of the C.A Charges = Rs. 2,27,650/-

Total C.A. Charges(A+B+C+D+E)= 455346+4194+1569172+247782+227650= Rs.25,04,144

In Words (Rupees Twenty Five Lacs Four Thousand One Hundred and Forty Four Only)

Divisional Forest Officer Nowshera Forest Division Nowshera

Compensatory Afforestation Plan under FCA for construction of road from Devak-Bambliya connecting Sanki-Deoli & Hathal-Sarooti

Proposal No.	Nomenclature of FCA User work Agen	User Agency	Compa	Compartment	Loca	Location of proposed work	Area involved for diversion	Area under CA Plan	Financial implications of the proposal	Canopy Density
									proposal	
FP/JK/Road/ 152391/2022	FP/Jk/Road/ Construction of road 152391/2022 from Devak-Bambliva	PWD	Patch1	104/D	Patch 1	Patch1 104/D Patch1 Thangroit	6.051	12 Ha.	Rs.25,04,144/- <30%	<30%
	connecting Sanki-		Patch2	105/D	Patch 2	Patch2 105/D Patch 2 Thangroit				
	Sarooti									

Divisional Forest Officer Nowshera Forest Division Nowshera